AR DM I EIRICRE I 5508% A X = A NS
S 2 F(20208) E
1 WS LE-EREYMOERABDREE. 2

[[BE [hcHh Gk BREDRVEER—RRED) |

X5 IBEf| 4858 681 78 | 88 |98 1081112818 || 28 || 38 || &t
1=t EmE|[ t || 948]1069] 1373[1530] 1348 1287] 1350] 683] 349 9937.22
284 E|| t || 743|iE anlnarsalupraslarsalaranuarsn 946[ 1090 2778.38
SETEAIE] ¢ |[1691][1069] 1373][1530][ 1348] 1287] 1350][ 1629] 1439 12715.60

2 BAEPORBEAREE . ECARITHRAT IREARBE. BFH AP O—BILRR (CO)IRE (T XTHHFED A FHIE)

amwe|lszena L]l 48 | 58 | 68 ] 78 | 88 ] 98 [10R]11A]128] 18 | 28 | 38 || ‘L&
wozeol 1515 woourlwcar| °C || 861] 862] 837] 843 821] 844] 862| 854] 920 856
w1 |28 |[wvoutllwvonr] °C || 842|387 en naraclanraslunrsaluarscinnras 826 915 861
#CB-[1 S g lovos|[wooss|[ °C || 188] 189] 188] 190] 191] 197] 194] 194] 197 192
R Py e s I ) e e e e e e IR IR 190
wrzao] 1545 | ol ppm | 17] 23| 28] 30| 28] 14| 21| 30| 33 25
o P e i e i e e e IR IS 21

S

¥1 720—FEODIZTAE
%2 70—FEOQIZTAE
*3 70— LEOQIZTHIE

3 IR, B RN HEIC-WOELEEVLCADKREEITo-H

1847 ) 2817 }
SRR EAH AR ERR

Pl e R E g R2.12.21 TERREBRMAXRME R2/12/7 (14 | 21

BARILEER EAD BARILEER ERR

4 FVEERFFEREANERR

S T 2EF0O% AL CHE

Izéj\ HRIRHIE | B HEE $1ﬁ 1_@ E — 2_@ E —

1547|2547 | 1 5 4F| 25 4F
A RZEHERLI-FA B Re6 1]
HBROBLoN-FEAH [Re.6.20] 5755
(jf[,\CAJ;)%F;_XS 008g/miNf 002e/min| ¢ /meN||0.00 1 |5 r s

BREBEYREXS |57 Hoopem| ppm || 25 [5F5s
EXMIEYMEEXS [ 250 | 250 | ppm|| 160[5%5E™
AL KFREXS | Dun| 2000 me/mn||  50[E252
%5 70—B EDRIZTAIE

5 BHRBDFAF XL EHRERERR

TR ool on | con

== wase | axemE Bz 15% 25¥F

BHREERLE-EAR R1.12.10 || R1.12.10

HRENBLONI-EAR R2.1.10 R2.1.10
BARBOY (455 BREXS 5 | 1 wream|  0.017 0.072

%3 70— EDORIZTHIFE



